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IEB I ERAXIE

MEIEE =Ry, — VX xR X BE=
SHEL ] 4 4
IR E kg 6/.b =* 5.7 65.9 £ 0.6 NS
T RF{AE kg 110.0 = 4.2 105.6 * 3.4 NS
SHIR DA E kg 42.5 =+ 4.4 39.8 £ 3.6 NS
Hi 17 B iip A 150.3 = 10.6 1556.8 £ 11.9 NS
SHIRI D DG kg/ B 1.179 = 0.185 0.969 £ 0.188 NS
FIEHEINE kg/%E 119.2 142.7 -
AR SR ER 3.00 4.00 -
1-15H8 (113~127H#) ik kg 18.9 = 2.8 17.4 * 2.0 NS
15-320 8 (127~1448%) B4k kg 20.9 = 1.7 17.9 £ 1.3 *
1-15H BDG kg/ B 1.348 = 0.199 1.241 = 0.141 NS
15-32H BDG kg/ B 1.228 = 0.097 1.061 = 0.077 *
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IRARAERE AR

WAEIEH =2Rjy) —z=JKX X IR X BRrE
2 PSS 2.0 £ 0.0 2.3 £ 0.5 NS
MANEE kg 09.5 £ 2.9 08.7 £ 1.5 NS

RN cm 93.8 £ 3.4 916 = 2.2 NS
BEXI cm 70.0 £ 2.5 03.1 £ 0.7 NS
BlEl B cm 40 = 0.4 4.2 £ 0.6 NS
BlEh B cm 2.3 £ 0.6 2.4 = 0.2 NS
Blslh & cm 3.5 £ 0.6 3.0 £ 04 NS
MRS 1 A2 W3 ZKADIE  FIIEFIRERE



s %’f@x@zng

EELE ==K iv2 —vZ UK X IR (X HEE
0 — XWrmEta cm2 39.3 = 2.8 36.1 = 3.6 NS
APCS 3.0 = 0.4 3.0 £ 0.4 NS
e L* 5251 = 464 52.16 = 2.39 NS
N a* 10.69 £ 0.40 12.10 = 1.43 NS
N  b* 0.84 £ 1.59 1.21 = 1.27 NS
PERHFPCS 1.3 =+ 0.3 1.0 = 0.0 NS
PERFE  L* 7423 = 1.32 7420 £ 0.85 NS
fERFE  a* 3.3 £ 1.10 3.37 £ 0.64 NS
PEfFE  Db* 243 = 042 2.34 £ 0.68 NS
R % 316 = 1.4 32.4 £ 3.6 NS
MER cm2/g 276 = 1.2 27.7 = 2.0 NS
K5 % 73.8 = 0.6 73.1 =+ 0.5 NS
JEZEEES % 28.2 = 1.5 27(.0 = 2.4 NS
[EVRN T3 % 40.0 = 1.6 40.1 = 1.9 NS
E RE B it = °C 299 = 1.2 316 = 3.8 NS
BT I 7 < 103 N/m2 3.00 £ 3.02 3.09 £ 1.76 NS
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BREIRE RS

KERERED/ S X MI5T4,

BHEIRE B — VUK X BR X =V
PR 58 4 4
IR Z R DIERANE A 114 114
RDOBKOIFE L & % 56.9 = 55.0 43.0 * 54.9 %
SOBRDIFE L & % 56.6 = 54.9 43.0 = 549 *
B OFFELE % 55.5 £ 54.9 443 = 54.8 NS
BROIFFE LI % 54.4 £ 55.0 46.0 £ 54.9 NS
) FEHADEX % 52.7 £ 54.8 47.0 = 547 NS
gAY g X % 57.8 = 54.9 42.8 = 54.8 *
A== HBHD % 49.0 = 54.8 50.7 = 54.8 NS
EELTOHFFELE % 52.7 = 54.8 473 £ 54.8 NS
MEROME : FHELEERE MEBEOFS : * 1 p<0.05THBEHY, NSHBEAL
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